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Which of the following statements regarding to the central limit theorem is (are) correct?

(A) Population distribution will approach normal distribution when sample size 1s large

(B) If we take a large number of samples from a normally distributed population, the distribution
of the sample means will approach the standard normal distribution

(C)For any population, the sampling distribution of sample means will approach normal
distribution regardless of the sample size

(D) Increasing the sample size causes the sampling distribution of p to have more dispersion

(E) None of the above.

Which of the following statements 1s (are) true?

(A)When a null hypothesis is rejected, the probability of committing a Type Il error is 0

(B) Increasing the value of @ increases the value of £

(C) A large value for the power at a specific value of the alternative hypothesis indicates a small
value for the probability of a type II error, given the specified value stated in the alternative
hypothesis

(D) Type I error and Type II error could exist at the same time

(E) None of the above.

Which of the following statements regarding to multiple regression analysis is (are) not correct?

(A) The value of coefficient of determination is less than or equal to the value of coefficient of
correlation.

(B)If ¥ =f,+ f,X, +/,X, + ¢, then the response surface of this model is a plane

(C) A large value of unadjusted coefficient of determination does not imply that the fitted model
is a useful one

(D) The adjusted coefficient of determination must be smaller than or equal to the unadjusted

coefficient of determination in a same regression model
{E) None of the above.

Which of the following is (are) not a required assumption for one-way ANOVA?
(A) The sample size must be equal

(B) The population must all be normally distributed

(C) The population variances must be equal

(D) The samples for each treatment must be selected randomly and independently
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(E) None of the above.

Which of the following statements is (are) correct if multicollinearity exists in a multiple
regression model?

(A) The independent and dependent variables are highly correlated

(B) Standard errors of the coefficient estimates for the correlated predictor variables will increase
(C) The value of coefficient estimates for the correlated predictor variables will increase

(D} P value of coefficient estimates for the correlated predictor variables will decrease

(E) None of the above,

+ Two phone numbers A and B are owned by a company. If 80% of the time for line A and 60%

of the time for line B is busy, the free time of the two lines is independent, what is the probability
that at least one of the two lines is busy on a given time?

(A)Between 0.80 and 0.85

(B) Between (.85 and 0.90

(C)Between 0.90 and (1,95

(D)Between 0.95 and 1.00

(E) None of the above.

X is a random variable with uniform probability distribution. Its probability density function 1s
1/20 for 20<x<40
-]

0 elsewhere
The variance of X is
(A)between 25 and 30
(B) between 30 and 35
(C)between 45 and 50
(D)between 50 and 55
(E) none of the above.

The time between arrivals of vehicles at a particular interaction follows an exponential
probability distribution with a mean of 12 seconds. The probability that there will be 24 or
more seconds between arriving vehicles is

(A)between 0.10 and 0.15

(B) between 0.15 and (.20

(C)between 0.20 and (1.25

(D)between 0.25 and 0.30

(E) none of the above.

- A company has an average of 250 one-page photocopy tasks per day with standard deviation of

25. A task is failed when insufficient papers. The company sets a target of failure rate at 1%.
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Assume the number of tasks is normally distributed, how many pieces of paper should be
prepared?
(A)Between 286 and 290

(B) Between 291 and 295
(C) Between 296 and 300
(D)Between 301 and 305
(E) None of the above.

+ + The records show that 52 men in a sample of 1000 men versus 23 women in a sample of 1000
women bought the new brand cellular phone. Do these data present sufficient evidence to
indicate the rate of buying new brand cellular phone among men is greater than that among
women by 0.0257
(A) The rate of buying new brand cellular phone among men is greater than that among women
by 0.025

(B) No sufficient evidence to indicate the rate of buying new brand cellular phone among men is
greater than that among women by 0.025

(C) Not enough information is provided to answer this question

{D)None of the above.
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